CARLTON CRICKET CLUB UNDER 18s Vs STENHOUSEMUIR CRICKET CLUB UNDER 18s

PLAYED AT: Grange Loan, Edinburgh

RESULT: Carlton won by 97 runs

DATE: 24th August 2010

Junior Sponsors

BOWLING

INNINGS OF: Carlton Bowler Overs|[Mdng{[ Runs ||Wkts|| Nb
No Batsman How Out Fielder Bowler Rund| 6s|[ 4s 1 |fp Hamilton 3f  of 21 o
1 [N Martin caught Jones Oliver soff 2l 7 2 ||G Halcrow 4 o 28 2
2 |IR Bhopal caught Smith G Halcrow 14 1ff 1 3 |R Jones 3 of 29 o
3 [IN Hunt c&b Mclntosh 16, 1 4 ||G Oliver 4 o 29 1
4 |IF Boyd not out 20 2 5 ||A Mcintosh 2l o 19 1
5 ||T Barrett caught G Halcrow Mackie 18| 1) 1 6 [|A Mackie 2 0 15 1
6 |IF Whatley caught C Halcrow G Halcrow 0 7
7 |IM Wells not out 0 8
8 |[M Ahmed dnb
9 ||A Rive dnb
10 ||G Currie dnb
11 ||F Allardice dnb

Extras (b3,w121b 3, nb2) 20

TOTAL (for 5 wickets, 18 Overs) 147
INNINGS OF: Stenhousemuir BOWLING
No Batsman || How Out Fielder Bowler Rund| 6s || 4s Bowler Overs|[Mdns| Runs |[[Wkts|| Nb
1 |[G Oliver lbw Ahmed 1 1 |[M Ahmed 3 of a3l 3
2 |ID Smith caught Rive Ahmed 0 2 [[N Martin 2 0 14 1
3 [IR Jones caught Whatley Martin 6 3 |[R Bhopal 3 1 14 4
4 |[P Hamilton bowled Bhopal 30 4 |IF Whatley 2.4 0 8 1
5 ||G Halcrow bowled Ahmed 1 5
6 ||IC Coutts caught Rive Bhopal 3 6
7 ||IC Halcrow caught Barrett Bhopal 5 7
8 |ID Angus not out 1 8
9 ||A McIntosh caught Allardice Bhopal 0
10 ||A Williamson stumped  ||Boyd Whatley 0|l
11 [|A Mackie run out (Allardice) 0

Extras (b1,w21b0,nb0) 3

TOTAL (for 10 wickets, 10.4 Overs) 50




